Bellwork  Alg 2B  Tuesday, October 31, 2017

Write each as a single logarithm. Make sure answer have only whole number exponents.
1. 9logz4 - -LOG:B% + 5LOG,C 2. 7In— ~2InG= - 0.7InH

L
3. %logM10 +3(logN ¢ —2logQ)

Write as a single logarithm then evaluate.
5. 2log46 + 5-109464 — 1109481 — 4log,2 6. %Iog681 — (2logs2 + 3logs3)
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Write each as a single logarithm. Make sure answer have only whole number exponents
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Write as a single logarithm then evaluate.

5. 2log46 + +logs64 — +-10g481 — 4logs2 6. %109681 — (2logs2 + 3logs3)
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